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(—) (254, %% 54) Consider A= 1
| Tl -2 0

(a) Find det (4). |

(b) Find A, S | g

(c) Find the eigenvalues ahd_eigenﬁectors of matrix A.

I

(d If B= jz,FmdAB.

(e) ~ Linear system Ax =0, Find solution of x.

(=) (25 %, %7 5 %) Consider the?o'l_léw'mg Linear system equation

kx +x, +x, =2k
x, +hkx, +x, =3

X, +x, +hx, =1

Determine k values to make system with | |/

(a) A unique solution (b) No solution - |

(c) Infinitely many solutions

(d) Use Cramer’s rule to find  X;,X;, b N if the system has a unique solution

(e)If k=0, Find X;,X;, X3,
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(=) (20%) Consider the ODE

=l

(x* —x)y" + Bxy' +y = 0.
One solution is y; = x*.

(a) Find the values of A and B. (5%)

(b) Find the general solution bftheODl_E by reduction of order. (15%)

il —

(m) (20%) Consider the ODE
(e*tY + 2xye¥)dx + (x%2e¥ — 2e™Y)dy = 0.
(a) Find the integrating factor. (10%)

St LT e Pl
(b) Find the general solution of the ODE. (10%)

— ]

(£) (10%) One solution of the ODE y” +y’ + Ey = 0 is e~2*.
(a) Find the value of E. (5%)

(b) Find the general solution of the ODE. (5%)




